THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF VTE LTR. REVISIONS DATE | INT.
INCORPORATED. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PN ADIED VTE PART NMBERS 2506 | BRH
PERMISSION OF VTE INCORPORATED IS PROHIBITED. = | ASSEMBLY OBSOLETE 7-31-17 | 82817 | RAS

/ /10 AARDWARE PACKAGeE CHNTENTS

QTY., | DESCRIPTIUN
10 #8-32 X 95/16” STAINLESS STEEL PAN HEAD PHILLIPS SEMS
SCREWS REF., VTE# 38/0-000
C 1/74"=20 STAINLESS STEEL HEAVY HEX NUTS
REF. VTE# 3842-002
e 174" 1.D. X 172”7 O.D. STAINLESS STEEL FLAT WASHER
REF., VIE# 3644-001
C 174" STAINLESS STEEL SPRING LOCK WASHER
REF. VTE# 363/-000

TOLERANCE UNLESS OTHERWISE SPECIFIED: +.0307/+0.8mm
RADIAL DIAMETERS TO BE MEASURED OVER MANDRELS,
RING_GAGES OR PIN GAGES OF SUITABLE SIZE

VTE Incorporated
5437 Robihson Road, P.O0. Box 790
ﬁgiw Pellston, Michigan 49769
w R Telephone! 1-800-527-9256, 231-539-8000

FAX1 231-539-0914

REF DATE: DRN BY: BRH | WEIGHT:
HAHK 27N0V06 CHK’D BY: BRH HHHK
TITLE' HARDWARE PACKAGE FOR 771025NIN14 SCALE:
MATERIAL: PART NO.
DRG /7710
COLOR: ¥k CLASS KHHKK



AutoCAD SHX Text
7710 HARDWARE PACKAGE CONTENTS

AutoCAD SHX Text
#8-32 X 5/16" STAINLESS STEEL PAN HEAD PHILLIPS SEMS SCREWS REF. VTE# 3870-000

AutoCAD SHX Text
1/4"-20 STAINLESS STEEL HEAVY HEX NUTS REF. VTE# 3842-002

AutoCAD SHX Text
1/4" I.D. X 1/2" O.D. STAINLESS STEEL FLAT WASHER REF. VTE# 3644-001

AutoCAD SHX Text
1/4" STAINLESS STEEL SPRING LOCK WASHER REF. VTE# 3637-000 

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
10

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
RADIAL DIAMETERS TO BE MEASURED OVER MANDRELS, RING GAGES OR PIN GAGES OF SUITABLE SIZE

AutoCAD SHX Text
TOLERANCE UNLESS OTHERWISE SPECIFIED: ±.030"/±0.8mm

AutoCAD SHX Text
PERMISSION OF VTE INCORPORATED IS PROHIBITED.

AutoCAD SHX Text
INCORPORATED. ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN 

AutoCAD SHX Text
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF VTE 

AutoCAD SHX Text
BRH

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
A

AutoCAD SHX Text
ADDED VTE PART NUMBERS

AutoCAD SHX Text
25JAN06

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
*****

AutoCAD SHX Text
*****

AutoCAD SHX Text
DRG

AutoCAD SHX Text
****

AutoCAD SHX Text
BRH

AutoCAD SHX Text
WEIGHT:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
27NOV06

AutoCAD SHX Text
CLASS

AutoCAD SHX Text
HARDWARE PACKAGE FOR 771025N1N14

AutoCAD SHX Text
CHK'D BY:

AutoCAD SHX Text
DRN BY:

AutoCAD SHX Text
COLOR:

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
TITLE:

AutoCAD SHX Text
****

AutoCAD SHX Text
REF:

AutoCAD SHX Text
7710

AutoCAD SHX Text
FAX: 231-539-0914

AutoCAD SHX Text
Telephone: 1-800-527-9256, 231-539-8000

AutoCAD SHX Text
Pellston, Michigan 49769

AutoCAD SHX Text
5437 Robinson Road, P.O. Box 790

AutoCAD SHX Text
VTE Incorporated

AutoCAD SHX Text
LTR.

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
DATE

AutoCAD SHX Text
BRH

AutoCAD SHX Text
INT.

AutoCAD SHX Text
B

AutoCAD SHX Text
ASSEMBLY OBSOLETE 7-31-17

AutoCAD SHX Text
8-28-17

AutoCAD SHX Text
RAS


	Sheets and Views
	Layout1


